20—~ =120 =20

420

i

10 —=] |- {20

420

o 0000000 00000O0O0COGC
00000000“0000000000
‘000000000000000000
(]
(]
(]

10 20—==—20—=

00000000 00000000OCO0CO
0000000000000COCO0O0COCO
00000O0CO 000000COOCOCO

400 —

©00O0O0OOO|O

ooo
09000
00000
00000
oIaca

coo

ooo

0ooo

0ooo

coo

0ooo

Iaca

ooo

0ooo

coo

0ooo

0000

0000

©000000OOCO
000000O0OCOO
000000O0OCOCO
000000O0OCOO
® 000000O0CO0CO

O0—O6—6—6—6—6-
0—0000°06

560
10

°
° °
i '

°

0000
0000
060000000 °
00000000 °
°

°

0000O0OCOO

00 000O0O0O0
~——21 agujeros

00000O0COO o0o0o0
00000000“000

Py
d

—ﬁ—Zl agujeros = 400 ——=

DETAIL B

SCALE1:1

[T
}ezo 20"‘ ‘_t 20 ¢6

600

40

500 50

0~ -R8 o] 5]l !

PLANO BASE JUEGO MATEMATICA 420
Alexander Nieto
17-10-2017




